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MATHS WORKSHEET 2y e

October 06, 2020 ERATOR GCSES
1) Find area of square 2) 3)
having each side (s) 6 _&r
s equals 10in
Volume of Cone A =64 B
s 0 Find the Angle at side B.
Answer: Answer: Answer:
4) 1+0 5) Find perimeter of 6) 30+ 10
triangle
b ¢ a=6inb=9in,
ul c=10in
E|
Answer: Answer: Answer:
7) (-5)x1 8)  Factorise 6f2 + 28f + 16 9) Find area of
b rectangle having
sidesa=10cm
a andb=3cm
Answer: Answer: Answer:
10) (-2)x3 11) 'What isthe probability of rolling 12) (8x98) +(10x 2Y
factors of 5.when rolling adice
Answer: Answer: Answer:
13) 0% 2 14) 0% 2 15) 2,
Answer: Answer: Answer:
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16) 5-3 17) Find the mode of the following set of data: 18) Factorise 4X2 +19x + 15
10, 10, 10, 8,8,8,7, 7
Answer: Answer: Answer:
19) Factorise 4j2 + 15 + 11 20) 6x2 21) Solvels?-20s+4=0
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
22) 8+ (-5) 23)  What would you multiply by to 24) Find area of
decrease an amount by 7%? b rectangle having
sidesa=5in
a andb=2in
Answer: Answer: Answer:
25) Convert the following mixed number 26) Increase 16 by 75% 27) Find area of
48/3 into an improper fraction. b rectangle having
sidesa=10ft
a andb =41t
Answer: Answer: Answer:
28) Find perimeter of 29) 01:15 am To 05:48 am 30) Increase 10 by 40%
b rectangle having
sidesa=9cm
a andb=8cm
Answer: Answer: Answer:
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31) Write40in standard form.

32) Write40in standard form.

33) Find the median of the following set of data:

6, 27, 20
Answer: Answer: Answer:
34) (-8) - (-5) 35) Anamount wasincreased by 8% to 36) 3%, + 18/,
$435.00. Find the original amount.
Answer: Answer: Answer:
37) 4Y/g+ 31, 38)  37%of 19 39) 6/ +4,
Answer: Answer: Answer:
40) Find the value of 'd' by completing 41) Share 12 intheratio 5:1 42) 2-(-9)
the square of the following equation:
2410d+ 16
Answer: Answer: Answer:
43) Decrease 16 by 50% 44) Find the range of the following set of data: 45) 60+ 10
7,31
Answer: Answer: Answer:
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46) 9x (-1) 47)  Find the percentage change from8to || 48) 2%/ x 1%/
14
Answer: Answer: Answer:
49) - 50) (-9)+3 51) Solve by factorising
8 Find Volume of 2-16s-17=0
Cylinder
Answer: Answer: Answer:
52)  Round 7.7145 to the nearest whole 53) 8/ 1" 7 1 54)  Find the percentage change from 5 to
number. 13
Answer: Answer: Answer:
55) 4x 10 56)  What would you multiply by to 57) Decrease 75 by Y.
decrease an amount by 32%7?
Answer: Answer: Answer:
58)  Write3.1x 108 asanorma number. || 59)  Round 28.508 to 2 decimal places. 60) 9% g
Answer: Answer: Answer:
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61)  Findthemode of the following set of data 62) Simplify 7.9 63) Round 27.2564 to the nearest whole
2,2,2,6,6,6,10, 10 number.
Answer: Answer: Answer:
64) Find perimeter of 65) Solve17d2+6d-5=0 66) Simplify 6:11
b rectangle having Round your solutionsto 1 decimal
sidesa=9in place.
a andb=6in
Answer: Answer: Answer:
67)  Write 0.0002 in standard form. 68) $467.00 earning 10% compound 69)  Findthemedian of the following set of data
interest for 8 years. 14,24,13, 4
Answer: Answer: Answer:
70) Find perimeter of 71) 13/, + 47l 72) A number was shared in the ratio
. . triangles=1in 9:1. The smaller share was 5. What
was the larger amount?
s
Answer: Answer: Answer:
73) A number was shared in the ratio 74) Round 6.76151681 to the nearest 75) Find perimeter of
9:1. The smaller share was 5. What 1000 a p triangle
was the larger amount? h=4,a=6ft,
c b=7ft c=8ft
Answer: Answer: Answer:
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76) 71872 77) 1,17 of 234 78) Solve5d2-10d-20=0
Round your solutionsto 1 decimal
place.

Answer: Answer: Answer:

79) 1/21 of 210 80) (0) + (-4) 81) Simplify 6:13

Answer: Answer: Answer:

82) 83) Find the mode of the following set of data: 84) 6.36+53

/// 55519097,7
A B =47
Find the Angle at side A.
Answer: Answer: Answer:
85) Find perimeter of 86) 87) Factorise 9g2 + 30q + 9
b rectangle having
sidesa=9ft
a and b= 3ft ‘Name the type of angle.
Answer: Answer: Answer:
88) 9+ (0) 89) A number was shared in theratio 90) 1%+ 43
8:3. The smaller share was 9. What
was the larger amount?
Answer: Answer: Answer:
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Answer:

Answer:

91) 6x10 92) 2+6 93) Find the percentage change from 3 to
6

Answer: Answer: Answer:

94) 17+18x20+15 95)  Anamount wasincreased by 5% to 96) 8+ (-2)
$178.00. Find the original amount.

Answer: Answer: Answer:

97) Find the percentage change from 2 to 98) 4+13x17 99) Find area of triangle
12 a=7cm,b=8cm
b [

Answer:

100) Sharel3intheratio 7:6

Answer:

Total: /100
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1) 100in

8) (2f + 8)(f + 4)
15) 1,

22)3

29) 04 Hours 33 Mins

36) 2%,

43)8

50) -6

57) 72

64) 30in

71) Yo
78)d=320r-1.2
85) 24ft

92)8

99) 28cm
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2)0

9) 30cm

16) 2

23)0.93

30) 14

37) 15,4

44) 6
51)s=17or-1
58) 310000000
65)d=0.40r-0.7
72) 45

79) 10

86) Obtuse

93) 100%
100)1: 12

3) 116

10)

17) 10

24) 10in
31)4x 10!
38) 7.03
456

52)8

59) 28.51
66) 6: 11
73) 45

80) -4

87) (3q+9)(q+ 3)
94)

MATHS WORKSHEET

GEMERA i

Answers:

41
1
11) Yy
18) (4x + 15)(x + 1)
20
25) 20/,
32)4x 101
1
39) 5V
46)
1
53) 1,
1
60) ¥4
67) 2x 104
74) 6.762
81)6:13
88) 9
95) $169.52

5) 25in

12) 344373773
19) (4j + 11)(j + 1)
26) 28

33) 27

40) (d+5)2-9
47) 75%

54) 160%

61) 2

68) $1001.06
75) 21t

82) 133

89) 24

9) 6

6)3

13) 2Y,,
20) 12
27) 40ft
34)-3
41)2:10
48) 4%,
55) 40
62)7:9
69) 185
76) 716
83)5

90) %105

97) 500%
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7

14) 2Y

21) s=19.80r 0.2
28) 34cm

35) $402.78
42)11

49) 226.19467105847
56) 0.68

63) 27

70) 3in

772

84) 1.2

91) 60

98)
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